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1.

7

13+24+31+36+47+29=(13+47)+ (24 +36) + (31 +29)=60+60+60=
180

483 x 2 + 483 x 999 =483 x (2 + 999) = 483 x 1001 = 483483
375x8+125x6=125x2x (3 x4+ 3)=125x 30 =3750

12 x 3+ 120 x 3+ 1200 x 3+ 12000 x 3 =12 x 3 x (1 + 10 + 100 + 1000) = 36
x 1111 = 39996

2013 + 495 x 45 = 2013 + (495 + 45) = 2013 + 11 = 183

1+ 32+ 543 + 7654 + 98765 + 759876 + 7864987 + 88975398 + 999686429 =
(1+2+3+4+5+6+7+8+9)+(20+30+40+50+60+ 70+ 80+90) +
(300 + 400 + 500 + 600 + 700 + 800 + 900) + (4000 + 5000 + 6000 + 7000 +
8000 + 9000) + (50000 + 60000 + 70000 + 80000 + 90000) + (600000 + 700000
+ 800000 + 900000) + (7000000 + 8000000 + 9000000) + (80000000 +
90000000) + 900000000 = 45 + 440 + 4200 + 39000 + 350000 + 3000000 +
24000000 + 170000000 + 900000000 = 1097393685

13 +213+413+613+ ... + 1813 + 2013 =

[#%1]=13+ (200 + 13) + (400 + 13) + (600 + 13) + ... + (1800 + 13) + (2000 + 13)
=13x11+200x (1+2+3+ ... +10) =143 + 11000 = 11143

[i#2] =

10.

=11 x 1013 = 11143

11x (13+2013)
2

13+ 26 +52 + 104 + 208 + 416 + 832 + 1664 + 3328 + 6656 = 13 x (1 +2 +4 +
8+16+32+64+128 + 256 + 512) = 13 x 1023 = 13299

6102 + 6104 + 6106 +...+ 6198 + 6200 —6199—6197—6195—... — 6103 —
6101 = 6102 —6101+ 6104 —6103 + 6106 — 6105 +...+ 6198 — 6197 + 6200 —
6199 =50

169 +400+520 _13x13+20x20+2x13x20 _(13+20)° _,
9x121 3x3x11x11 33?




11.

12.

13.

14.

15.

16.

17.

18.

18-5  _  (13+5)(3-5) _ 18x8 _ 4
48x36-12x75  12x3x(4x12—25) 12x3x23 23

183x 33 _ L 1 183x183-1)= L « (183 +1) x (183—1) =~ x 184 x182=
91 91 91 01 01
184 x 2 = 368

2013000 + 125 + 4 + 40260 x 125 x 4 = 2013000 + 1000 x 8 + 4 + 40260 x 1000
+8x4=2013 x 2 + 40260000 + 2 = 20134026

198x176x154x132x110x88x66x44x22 22 44 66 88 110 132

X — X — X — X X —— x
11x22x33x44x55x66x 77 x88x%x99 11 22 33 44 55 66

154><176><198:2><2><2><2><2><2><2><2><2:512
77 88 9
650 650 650 650 650 650
+ + + et + =
13x63 63x113 113x163 163x213 1913x1963 1963x2013
650 ( 1 1 1 1 1 1 )

+ - - et -
13x63 63x113 113x163 163x213 1913%x1963 1963x 2013

1.1 1 1 1 1 1 1 1
=650x —((-———=) + (—=- + — +ot (————
><50((13 63) (63 113) (113 163) (1963 2013))
:13x(i_i): _3:@

13 2013 2013 2013

183.4><4g—(3§x4800)x(%+%) 9£><@—(15><1200)><i
7 4 10 10°_ 5 7 100 —
9 _6 42 55
3—xT= — X —
11 7 11 7
131x6-180x3 _262—-180 —3 9
6x5 2x5 '

5x5—4x4+50x50—40 x40 + 500 x 500—400 x 400 + 5000 x 5000 —4000
x 4000 + 50000 x 50000 —40000 x 40000 =9 x 1 + 90 x 10 + 900 x 100 + 9000
x 1000 + 90000 x 10000 = 909090909

1 1 1 1 1 1 1
2013x (1— =) x (1—=) x (1—=) x-+-x (1— 1+2)x (1+2) % x (L+——
(L)X @)X A @ )L e (e x (@b )
=2013x1xﬂx§x§x§x'-°x@x%:2013x1x%:1007
2 3 456 2012 2013 2



2013° -2011* 2009>-2007°> 2005°-2003° 2001*-1999° _

+ + +
2012 2008 2004 2000
2x(2013+2011)  2x(2009+2007)  2x(2005+2003) 2 (2001+1999) _

2012 2008 2004 2000
2X242x2+2x%x2+2%x2=16

1 2013 2012 2011 2 1
+ ) X X X Koo X X

2013 5 7 9 4027 4029
4027 2013 y 2012 y 2011 y 2 1 1

X X e X X =
2013 5 7 9 4027 4029 4029

1 1 1
20. (2+§)x(2+§)x(2+z)x---x(2

5 7 9
T X —X—X oo
2 3 4




